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5-2-21

0.00002ppm
98 0.044ppm

5-2-21
(ppm) (ppm) (ppm)
(ppm) 98
(ppm) (ppm) (ppm)
G +))E +)
1 1
0.00001 | 0.00653 | 0.023 | 0.02953 | 0.02954 | 0.0216 | 0.041
0.04 0.06
ppm
2 1 0.00002 | 0.01284 | 0.023 | 0.03584 | 0.03586 | 0.0238 | 0.044

27
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5-2-22

0.0000186mg/

2 0.063mg/
5-2-22
(ng/ ) | (mg/ *) |2
(ng/ °) (ng/ *)
(mg/ °) | (ng/ )
G +)| G +)
! 0.0000062 | 0.002496 0.022 0.024496 | 0.024502 0.058 1
0.10mg/ °?
2 0.0000186 | 0.005712 0.022 0.027712 | 0.027731 0.063
27
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12

4 15 12
5-2-24 12
5-2-25
12
20 5-2-18
mw/ kg/
m/(m? ) kg/(m? )

3.0
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5-2-24

1 2 3 4 5 6 7 8 9 10 11 12
NOX | m%/ 11 71 7 226 226 226 | 1,003 904 | 904 | 904 79 95
SPM | kg/ 1 6 6 15 15 15 66 59 59 59 7 8
13 14 15 16 17 18 19 20 21 22 23 24
NOXx | m¥/ 190 174 | 213 213 182 171 80 80 80 80 50 50
SPM | kg/ 14 13 13 13 11 10 5 5 5 5 3 3
25 26 27 28 29 30 31 32 33 34 35 36
NOX | m¥/ 51 51 51 51 51 51 51 51 51 51 51 51
SPM | kg/ 3 3 3 3 3 3 3 3 3 3 3 3
37 38 39 40 41 42 43 44 45
NOX | m¥/ 51 83 34 113 113 1 20 20 0
SPM | kg/ 3 6 3 7 7 0 1 1 0
5-2-25 12
1 2 3 4 5 6 7 8 9 10
12 13 14 15 16 17 18 19 20 21
NOX | m/ 4,726 | 4,905 | 5,008 5,145 5,132 | 5,088 | 5,033 | 4,110 | 3,286 | 2,462
SPM | kg/ 315 328 335 342 339 334 329 268 215 161
11 12 13 14 15 16 17 18 19 20
22 23 24 25 26 27 28 29 30 31
NOX | m/ 1,638 | 1,610 | 1,565 | 1,425| 1,302 | 1,139 977 846 726 697
SPM | kg/ 107 104 99 88 78 68 59 51 44 43
21 22 23 24 25 26 27 28 29 30
32 33 34 35 36 37 38 39 40 41
NOX | m3/ 668 638 609 610 610 610 642 625 687 750
SPM | kg/ 41 39 37 37 38 38 41 41 45 48
31 32 33 34
42 43 44 45
NOX | m/ 699 669 638 587
SPM | kg/ 45 43 41 38
4 15
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